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PHILOSOPHY
( General )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7

fFafeiR® eracare Teg frm -

(a) Does the number of row of truth value
depend on the number of variables in
shorter truth table method?

5 T O EfT e I SRS
T T R 3 F=H 2
(b) ~(p-q)=(~pv~q)—what is the name of
this rule?
~(p-q)=(~ pVv ~q)—a% AR 7™ ¥ 2
(c) State the rule of ‘Modus tollens’.

‘Modus tollens’ o S7ER F41 |

(d) Who introduced the word ‘quantification’
for the first time?

ORI’ XA A &A% o SRR 2
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(2)

(e) What is the name of the symbol (X)?
(X)—<% AOFoR I 2

(f} What is the essence of induction proper?
AFS SR T3 T8l 3 2

(g) What is the principal ground of
unscientific induction?

e SR 1 3 R 2

. Write short notes on the following : | 2x4=8
(a) Singular proposition/9%% 55

{(b) Paradox of induction/SN5+R Rearem

{c) Experiment/*%%

(d) Good analogy /-AIPUHR

. Answer any three of the following questions :

Ffis A R o RS S fo s L

(a) Determine the validity or invalidity of the
following statements with the help of

shorter truth table method : 2Y%x2=5§
o o) Wi “rafes e i SR
3% 1 =3y ey 40 ¢

(i} p>(pvq)
i) {{p>q)-p}DOq
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(b}

{c)

(d)

(e)

4. (a)

(b)

8A/681

(3)

What is the general proposition asserting
relation between classes? Symbolize AEI
and O proposition by using quantifiers.  1+4=35
CAPTTPE AR /R I @A ? AR
T IR AEI 9% O THPHZ AT 940 |

What is unscientific induction? Write three
characteristics of unscientific induction.  2+3=5
FI@EE T I QA ? WIS
e fofRoT cafEs o

Distinguish between propositional logic and
predicate logic. 5
[T SEREE W Reae SFRem I
12 Row =41 1

Why are the rules of replacement called the
rules of equivalence? Mention any three
rules of replacement. 2+3=5

TARTRR WMomze v smde WS @

| W B o RAe TRl faw

TEy T

What is formal proof of validity? State any
six rules of inference. 4+6=10

@er SR amq [ R @ra =
SR S ST 70

Or /7%

Construct formal proof of validity of the
following : 5+5=10

{ Turn Over )



(4)

fafaieRs (Jvor SRS owd S
(i) 1. ADB

2. AV(C-D)

3. ~B-~E [..C

(i) 1. Av(BDA)
2. ~A-C/-~B
S. {a) Explain the shorter truth table method for

testing the validity of arguments. Why is it
called the shorter method? 8+2=10

e tager R I v o oo orafeeh!
A 90 1 S 1 o S I e =2
Or /71331
{b) Discuss the similarities and dissimilarities
between observation and experiment.  5+5=10

fAsd oF R e @ fE S
SYPTR SICEAG 947 |

6. (a) What is induction? How many grounds of
induction are there? Explain briefly each of

them. : 1+1+8=10
T I QA ? e ol (3R oeRI 2
CRART AT TF A 41 |

Or /%

(b) What is quantification? Distinguish between
universal  quantifier and existential

quantifier. 5+5=10
ARME TR QM 2 AR AR = e
IR T NPT FAfg 31 |
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